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1. {939 613 feg Ju=i AB 3 D fig 0 3
dedntt gsIf LAOC + ZBOE = 70° d 3

/BOD = 40° d, 3t /BOE ™3 fae&an


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_T8G5K1oXRoNl

(yfseast) ZCOE 3T a3

f939 6.13

o Watch Video Solution

2. fd39 614 feg JuEi XY »i3 MN fig 0 3

Scamt I&IR LZPOY =90° M3 a:b=2:347,


https://dl.doubtnut.com/l/_T8G5K1oXRoNl
https://dl.doubtnut.com/l/_KuzMx0h12g6S

3T c Y3T I

f939 6.14

o Watch Video Solution



https://dl.doubtnut.com/l/_KuzMx0h12g6S

3.fd39 615 feg 7 LPQR = ZPRQ J, 3 fHa

ad fa /PQS = /PRT 3l

p

° Watch Video Solution



https://dl.doubtnut.com/l/_ZVOKnWo3AMim

4.f93g616feg iz +y=w+ 23,3 Hgag
fa A0B f¥a Iy J|

fg39 6.16

o Watch Video Solution



https://dl.doubtnut.com/l/_cXgQbyhljB4I

5.f939 617 feg POQ & 34T Jifade OR 34T PQ
3 B9 JIfdgst Op M3 OR ¢ fegag 0s fea da
faas JIfHg Jg:-

1
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f939 6.17

A
A 4

o Watch Video Solution



https://dl.doubtnut.com/l/_65WQ64CdpRPl
https://dl.doubtnut.com/l/_mpYuFdbVo899

6.fd37Jfa /XY Z = 64° I ™3 Xy S fdg P 3
gaiany fgrdr 31 3t €t g 3 fea fg3g f9)
A fade YQ, /ZY P & AHEITH3 &adl d, 3
/XY QW3 faedan ZQY P © 48 U3 &4

o Watch Video Solution

7. {939 6.28 feg, x M3 y © WS U3 ad m3 fag

€dH'g fa AB || CD I


https://dl.doubtnut.com/l/_mpYuFdbVo899
https://dl.doubtnut.com/l/_DMrEniUyiOnt

fa39 6.28

° Watch Video Solution

8.fd396.29feg, A AB || CD,CD || EF M3 y:z =3

: 7 J 3T x T HS U3TAJ|


https://dl.doubtnut.com/l/_DMrEniUyiOnt
https://dl.doubtnut.com/l/_3Qo9cbRypv9O

fg39 6.29

o Watch Video Solution

9. fd39 630 feg, 7 AB || CD, EF L CD 3

/GED = 126° 9, 3 /AGE,/GEF "3


https://dl.doubtnut.com/l/_3Qo9cbRypv9O
https://dl.doubtnut.com/l/_jw7d843Rku6m
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fg3a 6.30

o Watch Video Solution

10. f939 631 feg, 7 PQ || ST, ZPQR = 110°

M3 /RST = 130° J, 3" ZQRS 43" &3 (Ha3:


https://dl.doubtnut.com/l/_jw7d843Rku6m
https://dl.doubtnut.com/l/_Ysqep3RaNRU2

fig R 3 J 3 ST & AHT3d fed Jur fH9)
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-
LI

fg93T 6.31

o Watch Video Solution

11. {939 6.32 fég, Aad AB || €D, LZAPQ = 50°

w3 /PRD = 127° 3,3  x M3 y u3' &4


https://dl.doubtnut.com/l/_Ysqep3RaNRU2
https://dl.doubtnut.com/l/_gHgUbDGs3Tpr
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D

fg3T 6.32

° Watch Video Solution

12. {939 6.33 feg, PQ M3 RS € TS I 1 fea
€d € AH3d 99 dre gal fea »urst fade As,

TJUS PQ 3 B 3 cad'Ee! J M3 Udedf33 fade Ug
BC 3 I8¢ TIUS RS 3 C '3 cdd'Ge! d M3 Taa"


https://dl.doubtnut.com/l/_gHgUbDGs3Tpr
https://dl.doubtnut.com/l/_GAXALszgMUzj

cD < f¥a femr feg ygeaf33 J Aidt J1 fifg ag fa

AB || CD 31

fg93T 6.33

o Watch Video Solution

13. f'939 6.39 €9, A PQR &M 3Ae QP m3
RQ & gHEd fignfi S w3 T 34 eurfen fapdT J1 A


https://dl.doubtnut.com/l/_GAXALszgMUzj
https://dl.doubtnut.com/l/_CYJvmZ13UB1d

/SPR = 135° d M3 /PQT = 110° d, 3F

/PRQ 43T d3|

T Q R

° Watch Video Solution



https://dl.doubtnut.com/l/_CYJvmZ13UB1d

4. 939 640 feg, /X =62° w3
/XYZ =54° JI Add YO M3 ZO PHEd
N XYZR /XY ZWM3 /XZY © AME3TH d<,

3t /0ZY M3 /YOZ Y3 33|
X
N

939 6.40

o Watch Video Solution



https://dl.doubtnut.com/l/_wgBg6rwlQFzH

15.f939 6.41fe9, 7 AB || DE, ZBAC = 35° 3

/CDE = 53° 4,31 /DCE 43" ad|

A B,

fd3a9 6.41

° Watch Video Solution



https://dl.doubtnut.com/l/_tzb1ZOjQUxC7

16. {933 6.42 feg, A Jue PQ M3 RS RAE T '3
/PRT = 40°, /ZRPT = 95° w3

/TSQ = 75° 3,3 LSQT U3™ a3

. )
fg3g 6.42 -

o Watch Video Solution



https://dl.doubtnut.com/l/_wwwHWXRgF0kg
https://dl.doubtnut.com/l/_OAHmiHgCgBNj

17. {939 643 fegmd PQ L PS, PQ || SR,
/SQR = 28° M3 ZQRT =65° 3,3 x M3y
T HS U3 4|

P

° Watch Video Solution



https://dl.doubtnut.com/l/_OAHmiHgCgBNj

1.1939 6.9 fE€9, Jume’ PQ w3 RS M™UH &g fig O
3 dee I&1 7 LPOR: ZROQ = 5:7 79, 3°
H'g dt & HS U3t ad|

fg3T 6.9

o Watch Video Solution



https://dl.doubtnut.com/l/_VS1SGJzlxSd1

2. {933 610 fe9, fage 0s ¥ POQ '3 H3t I
fage OR M3 OT gHEd LPOS M3 £SOQ ©

AHYSHA Il 7 /POS = z 9, 31 /ZROT U3

aJl

fg3T 6.10

o Watch Video Solution



https://dl.doubtnut.com/l/_dAj6xFA7aGE6
https://dl.doubtnut.com/l/_e7UpBjbSUQF6

3. fg33 611 f€9 OP, 0Q, OR M3 0S T3 fdas
Jal fg a9 fa
/ZPOQ + ZQOR + ZSOR + ZPOS = 360°

JI

fg3a 6.11

l o Watch Video Solution


https://dl.doubtnut.com/l/_e7UpBjbSUQF6

4.f93d 624 €9 7 PQ || RS, ZMXQ = 135°

M3 /MY R = 40° 3,37 ZXMY U3" 3|

P b4 )
135
M
4 b 5
fa3g6.24

o Watch Video Solution



https://dl.doubtnut.com/l/_e7UpBjbSUQF6
https://dl.doubtnut.com/l/_cH106n6ApDOD

5. f939 6.27 €9 AB Il CD M3 CDIIEF JI & T,
EA | ABJ1 8 ZBEF =55° 3t xym3 z &

HB U3TdJ |

o Watch Video Solution



https://dl.doubtnut.com/l/_vpA1qvwqjwZU
https://dl.doubtnut.com/l/_u0v7WwkxwDEl

6.7939 637 €9, 7 QT L PR, /TQR = 40°

M3 /SPR = 30° 3 x M3y HB Y3 &4 |

fdga 6.37

o Watch Video Solution



https://dl.doubtnut.com/l/_u0v7WwkxwDEl

